
ARM130.800

( Duvar Montaj Modülü )

4x M8 x 40

M8 x 20

M8X20 (x2)

M6 x 101x

1x

4x

2x

2x

J8.4

Wall-Socket
Mounting Bracket

(Insert the angle bolts into their slots and tighten them)
(Remove the yellow tape. Place the gasket with the 
adhesive surface inside)

Product Box Content

TS EN 50085-1
TS EN IEC 61439-1



-

due to heavy  weight that might occur in long length 

M8 ( Alyan )
M8 x 20 (x2)

M8 x 20 (x2)

below )

( Use M8x20 bolts for angle correction.)

(If there is no sagging in your application, leave the 
angle bolts in tightened position.) 

-

(If there is sagging in your application,loosen the 

position, tighten back the M8x40 angle bolts. You can 
use a spirit level etc. to check the slope.) 

J8.4 (x4)
M8 x 40 (x4)



(Check the gaskets for high sealing)
( M8 bolts are not included in the box ) 

M6x10 (x1)

M12 (x4)

connection.
(Remove the yellow tape. Place the gasket with the 
adhesive surface inside)



(Do not forget to adjust the plastic covers of the 
module) (Bolt connection holes and cable hole dimensions on 

the panel if required for assembly )

50

69

10
7

16
2

M8
13


